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91576

Student 4: High Achieved

(A Intended for teacher use only
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The critical path is: A, E, F, G, | = 26 weeks ©)

The job will require the minimum of 3 workers
Project requires at least 3 supervisors.
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The managers should come week 6 — 10 if they wish to view the 3 tasks being
actioned at the same time.

Task D could be delayed by 2 weeks before it would affect the critical path as it has a
2 weeks of free float, any delay over 2 weeks would increase minimum completion

time.

Any delay of A, E, F, G, | would change the critical path length also if any of B, C, H
were delayed by more than 2 weeks this would effect the critical path.

© NZQA 2019





